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QUESTION 1
DRAG DROP
Match each platform requirement to its respective definition.

Select and Place:

CHARACTERISTIC: REQUIREMENT:
simplifies application development Consolidated Technology Stack
Supports multiple programming languages and framewarks Scalability
Focuses on rapid product delivery and QA Microservice Support
Ensures optimal end-user service and utilization Aglle development and DevOps

Correct Answer:
CHARACTERISTIC: REQUIREMENT:
Supports multiple programming languages and frameworks
Focuses on rapid product delivery and QA
Ensures optimal end-user service and utllization
Simplifies application development
QUESTION 2

During an assessment for an organization\\'s cloud design, a cloud architect discovers that developers will be creating
applications for tenants. The applications will self-scale based on an internal trigger. The architect has included CMP
components in the design that will support this requirement. What else should the cloud architect consider to meet this
requirement?

A. CMP account with elevated privileges exists that can be shared with developers
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B. Mechanisms exist for changing the type of consumer resources automatically
C. Mechanisms exist for re-installing CMP components for scaling
D. Sufficient consumer resources exist to support the application elasticity

Correct Answer: B

QUESTION 3

An organization uses Microsoft Active Directory (AD) for service authentication in their private cloud. They want to use
the same authentication source for services in the public cloud. External employees access services in both clouds and
need to authenticate with AD. The organization wants to minimize and secure network traffic. Which solution will
address these requirements?

A. Connect the two clouds through IPsec VPNPIlace AD controllers in the private cloud only

B. Connect the two clouds through IPsec VPNPlace AD controllers in the private and public clouds

C. Configure perimeter firewalls to allow AD trafficPlace AD controllers in the private and public clouds

D. External users connect with IPsec VPNPlace AD controllers in the private cloud only

Correct Answer: B

References:

https://blogs.technet.microsoft.com/keithmayer/2013/01/20/step-by-step-extending-on-premise- active-directory-to-the-
cloud-with-windows-azure-31-days-of-servers-in-the-cloud-part-20-of-31/

QUESTION 4
DRAG DROP

You are tasked with designing a new cloud infrastructure. Match each compute related requirement with its proper
category.

Select and Place:
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REQUIREMENT: CATEGORY:
Tenant and application separation must be maintained
CAPACITY
Sufficient CPU and memory to run the planned services
AVAILABILITY
Support current and future capacity
SECUIRITY
Quality of components to dellver operational performance fora
specified time SCALABILITY
Correct Answer:
REQUIREMENT: CATEGORY:

Sufficient CPU and memory to run the planned services

Quality of components to dellver operational performance for a
specified time

Tenant and application separation must be maintained

Support current and future capacity

QUESTION 5

A company plans to invest $315,000 to cover hardware, software, and deployment expenses. They expect to save
$35,000 per month. They are using a decommissioning cost of $35,000 for the old equipment. After how many months
will the company reach the break-even point?

A7

B.8

C.9

D. 10

Correct Answer: B
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